f@mmwﬁm(msﬁ),ﬁ@aﬁmuw )
Sk .

vyt &, 11 TSR ; HIST 3w - 3.30pm ¥ 5.00pm
T : 32 qATT AT F FfogHaT =TT TFEOT T 2 150)

0/1/012] = A

YYUIeRT AISIauaTgel Shuan Weel o e dach aral.

(D
2)

3)
“4)

®)

(6)

()
®)

©)
(10)

(11)
(12)

(13)

(14)
(15)

I GITUIRd o Ta9RT aTed. et faam 1 99 gom s fawamandt 19 25 9 fa9m I w9 it
foraTETet 26 1 75 T TH 75 U 3ed. T Y WS(A0] SAeTF 3TE.

Ik JIATST 2 T[0T 371,

TR Hrefauaret Tk 90 fafter=n st faan s

3TTed. A 3T AT A shHlich ST aged Jerdl Saeiud S aeTgaTe TraT.
3. Y o, 6 AT TR I 94T 3. 2 378, R A JESITIHT icara.

s %h. 6 Ol ISIO)
QAT Figfoeret S TTel SO IUR TRId. 3T W Agfaedd & T ‘I’ T foet S,
WO

T I el Wed shicedl Toha e T Siciy-=re arqe syl Ifers Aiefeaeiat ST UTel
RO IR .

TehaT A Sfaerelt ST Ul I&etan JuTR ATéE.

JYUIR TE.

YT Wtk UTHTeR @il o IS ST UTHTeR dhed ShH HOITEIS! Hished! ST 3718, A9 ohed hi i

T Tifed e ST TETeHl J9 I Gl Id T9edrd Jeid Y9 |iedl. veet da Reeeh
Ufeeard el YeAa! Il 9ae ol

TG Yo1d J2/Ih Sececdrd e Faeish fhar wien hadares dieashe faarom & 73,
A IS/ nNararaEraad aed Sme foran urershiet Tefbraronfaenrtt fohan fraronfaelt aieee

oIl TEAd 7 UTSadl Haitdd Wes=A Ae HEA SHesd Igdid qear.

T2/ SNEITETET o STATEA TG qrefavar Had Tial TRuc=A1 Hehaeeay ST (qreqed)
AT IR FeRraEgT 10 (371 feadioia @ha.

HEUIRIY Rl 3171 SHROTHos W el STHCA STeeedTd qoa WA= SIWREIIER o W8 el Sed.
o5 AIHTHIS TSI Ao G eh faetell 3718, b AIEmdiel Hird SRAemed Susi Je Jalo.
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Section 1

3rd Language

Q. 1 to Q. 3 Read the passage carefully and answer the following questions.

Poseidon was the Greek god of the sea. He carried trident which was the symbol of his
power. He split mountains with his trident and rolled the broken parts into the sea. He had a
glittering palace in the depths of the Aegeon Sea.

1.  Who was the Greek god of the sea ?
(1) Poseidon (2) Greek
(3) Aegeon (4) Power
2.  What did Poseidon carry ?
(1) palace (2) trident
(3) depth (4) sea

3. The trident was the symbol of

(1) idea (2) depth
(3) money (4) power

4. Choose the correct punctuation mark which is not present in the given box.

o | ?

° (1) ? (2) !
3) 4) .
L
Space for Rough Work
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Complete the word register.

drum, cymbals, flute,

(1) sieve (2) stain
(3) tambourine (4) grater
Look at the greeting card. Read the message. Choose the proper date.
“Dear Teacher (1) On 5th September
We love you (2) On 15th August
So much !” (3) On 2nd October
...... Your students. | (4) On 14th November

Find out the odd term.
(1) Cucumber (2) Fenugreek
(3) Spinach (4) Coriander
Select the correct option.
The arrow shows direction.
(1) right (2) upward
(3) left (4) downwards
Select the proper action word.
share spill
curd
eat ?
(1) wash (2) cut
(3) peel (4) churm
Space for Rough Work
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10.

11.

12.

13.

She eats breakfast her parents.
(1) off (2) by
(3) with (4) at

Choose the correct alternative.

Tools used by Mechanic.
I | |
drill ? screw nuts
(1) roast (2) space
(3) cylinder (4) spanner

Select the correct answer.

How many letters should be capital in the given sentence.
ilive in aurangabad.

(1) 3 2) 1

3)0 4) 2

Solve the riddle.

I use a stethoscope and examine patients.

Whoam1?

(1) amechanic

(3) acobbler

(2) apotter

(4) adoctor

Space for Rough Work
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14.

15.

16.

17.

18.

Choose the correct punctuation mark for the given sentence.

What a great surprise.
(1) Apostrophe

(3) Comma

Complete the motto.
are our friends.
(1) Library

(3) Teacher

Arrange the numbers properly and make a meaningful word.

(2) Exclamation mark

(4) Full Stop

(2) Books
(4) School

o|lr | e | ] u

y

1 2 131415

(1) 1452673
(3) 4152637

(2) 4172635
(4) 1542637

Choose correct alternative to seek a permission.

(1) Iwill open the window

(3) Please open the window

Choose the correct option.

What time 1s it ?

(2) Open the window
(4) MayIopen the window ?

(1) Quarter past three
(2) Quarter past five
(3) Five pastthree

(4) Three past five

Space for Rough Work
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19.

20.

21.

Select the correct alternative

Let's make a for shopping.
(1) list (2) least
(3) lest (4) leest

Fill in the blank by using the correct article.

Eiffel Tower is in Paris.

(1) A (2) The

(3) An (4) No article

Look at the given picture. Choose the correct conversation.

(1) A :Thebubbles look so lovely !
B : Let's buy two.
(2) A:Here are your potatoes. Would you like to buy tomatoes ?
B : Sure.
(3) A:Please give us two full glasses.
B : Mamma, I want some ice in my juice.
(4) A :Do you like roasted corn cobs ?
B : Oh, I love them with salt.

Space for Rough Work
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22.

Select the correct option.

My number is 12. So [ am in the row.
(1) twelth (2) twelfth
(3) twelve (4) tweth
23. Complete the puzzle.
|
d (1) b,I,m
- (2) kg
g
rjajni e (3) 1,08
r
e (4) v,p,i
e
n
24. Choose the word that comes alphabetically first
(1) Tuesday (2) Friday
(3) Sunday (4) Monday
25. Choose the incorrect pair.
(1) atiny star (2) arichman
(3) arainy day (4) asharpday
Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

fawmT 11
TfogHT A0

26. 'oW®, TR, WEl, WRE, TR’ AT Yekeh IR HETHT AR &R U @rurg arefqut
ITeR TN AT, T 31fYUT ITeardiet Heg|mit AR 31eR shivrd o fetar.

(1) = (2) = (3) 4) T
T. 27 @ 31 WET G : METE T THUR UF HAIEl.
27 (1) IR (2) mfas
(3) oM TS (4) TR
28. (1) TRAM : TR (2) TENIE : HIe
(3) AU : e (4) TRIG : @AreroS

(1 (2) (3) 4)

pr—

. —_—
30. [__:::-____] ji?;%g;;:\\ Aﬁ:;_'__iiﬂ \\\[::><£i;£/’

(1) 3) 4)
31. (1) 153 (2) 136 (3) 102 4) 115
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

Section II

Intelligence Test

26. Make a meaningful word taking the second letter of the given words. 'PLAY, IVY,
HENCE, SCORE, PEAR, FROG' From that meaningful word which letter will be at
the 3rd place from right ?

(1) E 2)V 3) L (4) R
Q27 to Q31 Direction: Find the odd term
27. (1) Stomach (2) Food Pipe

(3) Small intestine (4) Lungs
28. (1) Rajasthan: Gangapur (2) Maharastra: Patane

(3) Madhya Pradesh: Bhimbetka (4) Gujarat: Langhnaj

29.

® .
30. {_i::____w N Aéi;___ii] \\[i:><£i;/’

(1) (2) 3) (4)
31. (1) 153 (2) 136 (3) 102 (4) 115
Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

32. WA HEATHT TR T9HTE-gTeaT AT ehiuTdl H&T A8 ?
13,17, 25,32, 37,2
(1) 47 (2) 42 (3) 45 (4) 46

33. ‘fa=, @9, ®RE, T, UEHOT, 9%]’ AT ISSHHE WISIAR STHACAT TSRS SIStaR
TS 9165 feRei SRl STET ST 37T

(1) 29 =Ht (2) 1% (3) 29 5 (4) 39 T

34. TTECT TIE e, ikl [ITE wed, BNt &g Wed, Tga 1% el @
Ut fuamern s e ?
(1) HFE (2) g (3) ferrs (4) T©F

W. 35 9 39 WISt G : UYATSAT GHATATET At U fEelt M. i shrdt ATITees 3, Tmes i
Teh T TR &dl, 97 TeTd a9k g feeiean uatams MHivea &

35. @&, USH, AHeT
(1) feaam (2) e (3) TR (4) o=

-

36. 9%, 9N, 9GS

(1) dred (2) T (3) T (4) T
- [HH [AY] [EE
(1) (2) 3) 4)
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

32.

33.

34.

Find the number which will replace the question mark (?) in the given number series.
13,17, 25, 32,37, ?

(1) 47 (2) 42 (3) 45 (4) 46

'Give me the strength lightly to bear my joys and sorrows.' In the statement how many
times vowels have occurred ?

(1) 13 times (2) 8 times (3) 7 times (4) 16 times

If calf is called cub, cub is called lamb, lamb is called kitten, kitten is called kid, kid is
called puppy then what is the young ones of sheep called ?

(1) kd (2) cule (3) kitten (4) pup

Q35 to Q39 Direction: In each of the following question three words are given with some

common characteristics so their group is formed. Select a word from the options given,
which has the same common feature of the given group.

35. Itching, Cough & Cold, Corn,

(1) cold fever (2) cholera (3) measles (4) dysentery
36. Choir, heap, pile,

(1) humming (2) crowd (3) march (4) mile
= HH|] |AV] [EE

? 9
(1) (2) 3) (4)
Space for Rough Work
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sgrEen tABCDE FGHIJ KLMNO PQRST UVWXYZ

38.

39.

40.

a
- /®

.>

/|8

1) @ 3) @)
2L 42 5l
4 "% %
(1) 5= @ 53
(3) 6 ORE

WEhT T ShiaaTaT GEATATITE 2891 & Jrae 32 9T shHich 3Te. ATE T HEAHTT ST
U= I HiST 397t 3118, Gaun o |ier Fisammed 10 Helt 3Med ¥ =91 Wi - eren
HRTA shHTeh fohRdar ?

(1) 20 =1 (2) 184
(3) 40 = (4) 199
Space for Rough Work
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Alphabets :ABCDE

FGHIJ

KLMNO PQRST UVWXYZ

38.

39

40.

/\

(M

1 2

2- 4% 3-

4° 8

4
(1) 53

2
(3) 61

1
4

/o

@

M

3) (4)

1
(2) 55

1
(4) 7§

In a queue Kavita's position is 28th from the start and 32rd from the last. In the same

queue Manisha is standing behind Suvarna who is standing in the middle position of

the row. In between Suvarna and Manisha there are 10 girls then what will be the

order of Manisha from the last ?

(1) 20th (2) 18th
(3) 40th (4) 19th
Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

T. 41 9 42 H1St o : YR Ferett wosreRet urvamer Sut e foe wrvama wfdfas e faoer 9
ITR ST I,
41. Y9-3Mepeit
X

A

(1) (2) ) 4
42. WIT-3MTeheit

MPC

e 09 k0 [
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

Q41. and Q42 Direction: If the question figure is held vertical above water surface, identify
its water reflection and select the correct alternative.

41. Question

Answers
»
2k 17' >
(1) (2) 3) (4)
42. Question
Answers
(1) (2) (3) (4)
Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

43. AT WA EATT fa4TE ATeeaTg Ferer degr g3 @rea STy el 39 faheriet
TTACATER O ITAThS ShISEhHIATT FEeTl AT I ATACATER Al T=&T ISTaichs hieahlATd
AT AT ST AT STSAT BIATAT hIUTeT fE91T 3/ ?

(1) % (2) uf=m (3) W (4) <farm

44, hiear, WiAT G HETHT IieAT TITE ST 4 Tuigel 28 99 &l a¥ 4 qEi-a e aret
AT fepet o 2/ et ?

(1) 32 (2) 40 (3) 36 (4) 52

45. gAY fehehe 9 peaTa Wl , AR therd Blehl Weadl, FeI9T Bedie! J hage! Wexl d U
FeaTe Qg Hel Wes Wbl I hASE! & Wes WU FhiuT ?

(1) dTwd T (2) e A (3) IO A gAY (4) ST AW

46. Ye fEetoan o= wiferehdiel YoAa=areaT STt fameia shiotar 9Hg A5et ?

REBA?QH PHRHEHA? P K
O R AKRQ o FHARR
6 KAHR @ KRR

47. 1 19 19767 LTI ST qenetarsn ‘qaut Heredd’ sheal |l aed ?
(1) 1 33 2001 (2) 1 372036 (3) 1 372026 (4) 1 37 2025
48. Tecrean Sedia drenT=l ThHUT GEA fehedt 2

(1) 15 2) 21 (3) 90 (4) 120
49. YIS UIAHTICIchAIST Tehid UT ST5ET.

3, 11,27, 57, 123, 251

(1) 123 (2) 57 (3) 27 (4) 11

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

43.

44.

45.

46.

47.

48.

49.

During the sunrise, Vishwas started walking that time the sun was to his left. He walked
2 km and turned 90° to his right. Again he walked for a while and turned 90° to his
right, then which direction is to his left now ?

(1) East (2) West (3) North (4) South

Total ages of Kavita, Savita and Salma four years before was 28 years, then what will be
the total of their ages four years hence ?

(1) 32 (2) 40 (3) 36 (4) 52

Suyash plays cricket and football, Rajendra plays only hockey, Shailesh plays football
and Kabaddi and Deepak plays all sports except football, then who play Kabbadi ?

(1) Deepak and Rajendra (2) Only Shailesh

(3) Suyash and Shailesh (4) Deepak and Shailesh

Which group of symbols will occur at the place of question mark in the given series of
symbols ?

REBA?QHPRRQEHA P PE K
O K AT R o FHARKRR
6 KAHHR @ TKHEHIER

'Golden Jubilee' celebrations of the school will be on which day whose 'Foundation
Day' is 1st June, 1976 ?

(1) 1 June 2001 (2) 1 June 2036 (3) 1 June 2026 (4) 1 June 2025
How many squares are there is the given figure ?

(1) 15 (2) 21 3) 90 (4) 120
Find the odd term of the given number series.

3,11, 27, 57, 123, 251

(1) 123 (2) 57 3) 27 4) 11

Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

50.

51.

52.

53.

T 201597 ' @it aart arar a8 @9 2016=n ‘ foreror fq’ shroren o gar ?
(1) wfEr (2) R (3) R (4) gHAR
fectea el FreRiuT & SR it ST eht W& fendt ?

s il

(1) 1197 (2) 995 (3) 1195 4) 1193
Tt TS Tehd U a-greaT STt ShiuTdt W& 9get ?

121, 169, 225, 289, 2

(1) 334 (2) 400 (3) 246 (4) 361

YRt 3Mehdid e ShiSiTuT waes shIuT feameft, freuma anT wes s faeeft a
AT FiEear Wes U faemet Tvtaeer emed. ameder e we faemeen
WA ST FATAT o1ver ?

3

TharT ShISITOT & ST TS0 h{UTR feramet fepdt ?
(1) 3 2) 7 (3) 6 4) 5

q

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

50.

51.

52.

53.

In 2015, Independence Day was on Sunday. On which day 'Literacy Day' will fall in the
year 2016?

(1) Saturday (2) Wednesday (3) Sunday (4) Friday

Each of the alternatives given below the figure indicate the number of triangles and
quadrilaterals respectively. Observe the figure and choose the correct option.

(1) 1Tand7 (2) 9and 5 (3) 1land5 (4) 11and3
Which number will replace the question mark in the given number series.
121, 169, 225, 289 ?

(1) 334 (2) 400 (3) 246 (4) 361

In the given Venn diagram the students who clean the ground are shown in the
circle, those who clean the garden are shown in the triangle and those who
clean the classrooms are shown in the square. Observe the figure and answer
the question by choosing the correct alternative.

How many students clean only ground and the garden ?
(1) 3 (2) 7 (3) 6 4 5

Space for Rough Work
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Fgmen :tABCDE FGHIJ KLMNO PQRST UVWXYZ
54, Tecteam STt geTeRdl Stehos fehel ?

Y

557
AL

(1) 7 (2) 19 (3) 16 (4) 20
W. 559 56 WISt GEAT : YYATHENA YYTehe et STRITAreT UaHT 9t f50e o yaiet ST SMehdaeq
Ffy=a =

55. U9T-3TTehdt

A \Y
RIP

(1) 2) 3) 4)

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

54. How many cubicle boxes are there in the given figure ?

(1) 7 (2) 19 (3) 16 (4) 20

QS5S and Q56 Direction: Find out the mirror image of each of the following question figure
from the alternatives given.

55. Question

D)
W

>
R

Answers

ERYSNZAYAEN C[%
ad/ \E|D/ [/ \Y[ad

(1) (2) (3) 4)

Space for Rough Work
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Fgmen :tABCDE FGHIJ KLMNO PQRST UVWXYZ
56. UYT-3TTehat

Oty

DIV INDININCAIHNTN

J3J0 0DV 0CY|O0DY

(1) 2) 3) 4)
57. YT fEeIett ATeRet ShIUTET UITHTAIe Seahivil 3T STa5d al uaia fHast.

(1) stTeres, fawea e, 1§ (2) 9Rd, HERI, Fich

(3) W, fehehe, deala (4) TSN, TSTEA, Ta

58. %@WWWW 3 T W 3T TR ealeaT ST ShIUTe ATehelt
1319

RER L

2

e

(1) (3)
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

56. Question

9ty
U3%|8398EQ| 830

(1) (2) 3) 4)

57. Select the alternative which will match exactly to the Venn diagram given in the question.

(1) Components of food, (2) India, Maharashtra, Karnataka
starchy food, Wheat

(3) Sport, Cricket, Batball (4) Telangana, Rajasthan, Goa

58. In the given figures there is a specific order. Observe the order and find out the
figure to replace the question mark.

RER A

Answers

/ \ l }
) 3) 4)

(1)

Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

9. 59 T 63 WSt AT : YEITA YUY Ufgedn o THAT USTAT STHT HWa el 38 3T a6 §aeg
fore=n & <tea uerd 31, oY Wete viven a wyAtemereAt Snh 9 uaty fer,

oL tawl PR P

(1) feeem (2) IR (3) TAEHTI (4) @1
60. YYT-ITThat
X = S
el e e 0K @
@ . (@M ivivie
@ OOOOOO OOOO « 266|5G e
S-S
N 38 00| [B0
L | < |80 | ¢ <
0p 70| [1% | |20 %] |00 | &7

o MLEW ST P
(1) S\_E 2) 8
3) S J ) 2

62. 8:504::6:7
(1) 222 (2) 216 (3) 210 (4) 209

Space for Rough Work

| |
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

Q59 to Q63 Direction: In the following question the first and second figure have a specific
relationship between them. The same relationship exists between the third and the fourth
figure. Find the correct figure from the alternatives to replace the question mark.

59. % :Monkey: :ﬁ : ?

(1) Fort (2) Lighthouse (3) Airways (4) Mine
60. Question

CLckol e I o SR
EHSSRESEITE - >
@« . 0o 000 .
@ OOOOOO W m_ 006/09|*  *
Answers
N 38 0d @9
< | < |@o| | ¢
ol feslon [ fod (ot
0o | 0] 2710 | |26 Y0||%0 |
(1) (2) 3) 4
o o0 } ]
61. [\/ll_ol/\lJooS‘J_e?

W[ST o (2T
SN o[2[T

62. 8:504::6:?
(1) 222 (2) 216 (3) 210 (4) 209

Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

63. 241:4124::372:7
(1) 6218 (2) 3214 (3) 6148 (4) 6281

64. 7,8,3,2,5,6,4,2,8,7,2,3,6,8,9, 4, 6 T HEATHTAT WU R Td GH 37k
THITRYE! oI fauw 37k 3 fenrdl et FTet o1Te ?
(1) 3 (2) T (3) =W (4) T

. 65366@@’@@@mmwﬁwmsﬁm

65. WT-3MMeheit

19999

66. YIT-ITTehcl

(1) (2) 3) 4

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

63.

64.

241 :4124 ::372:?

(1) 6218 (2) 3214 (3) 6148 (4) 6281

In the given series, how many times even number is preceded by odd number and is
immediately followed by an even number

7,8,3,2,5,6,4,2,8,7,2,3,6,8,9,4,6

(1) two (2) three (3) four (4) one

Q65 and Q66 Direction: Find out the figures which exactly matches with the question figure

from the four alternative figures given below.

65 Question Answers

(1 (2) (3) (4)

66. Question

Answers

(1) () 3) (4)

Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

67.

68.

69.

70.

ABCDE FGHIJ KLMNO PQRST UVWXY

T FUSTIAGTHTAT ISTeehg 159 TGN hIuTd ?
(1) O (2) L
(3) K (4) P

YyAagreaT SR AU W=t Udig ynern 9 o

5 3 e
| 4|7
7 2 45
(1) 25 (2) 10
(3) 61 4) 20
TehT Hich{dieh WA 26T 5 Ted, 36T 4 Tgeet 3MIUT 71T 9 Tedt % 3 + 2 x 7 = faeit ?
(1) 17 (2) 49
(3) 35 (4) 81

YyAtagreaT SR AU W=t Udig ynern o o

3 7 =

= A /(\
9 4 | 5 4 G
(1) 225 (2) 196
(3) 256 (4) 235

Space for Rough Work
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Alphabets :ABCDE

FGHIJ KLMNO PQRST UVWXYZ

67.

68.

ABCDE FGHIJ KLMNO PQRST UVWXY

In the given alphabetical series which is the 15th letter from the right end ?
(1) O (2) L

3) K (4) P

Which number from the alternatives will replace the question mark in the box ?

5 3 S
6 | 4| 7
-7 2 A
/ —— Vo
(1) 25 (2) 10
(3) 61 (4) 20
69. 1In acode language 2 is called 5, 3 is called 4 and 7 is called 9 then 3 +2 x 7=how much ?
(1) 17 (2) 49
(3) 35 4) 81
70. Choose the correct option to replace the (?) question mark.
3 7 5
=Y 169 s
9 4 | 5 4 G
(1) 225 (2) 196
(3) 256 (4) 235
Space for Rough Work
0102 -A 29 of 32 P.T.O.




sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

71. UahT Hichideh WO UG = 456, a<T = 542 & 75 = 74, W 'TbA5’ & I8 kAT fergret ?
(T : 37k I SGRAT hH ARG W 3 T )

(1) 4747 (2) 4444
(3) 2424 (4) 2727
T. 72 9 73 W8t GO ¢ 31N & Tergiean dqerr g Yeiet Wyl S8 {orar.

g | [ R4 =) o1 & |hliadl|HAEFT
x|Bm|oe [ X [Aa]le =]l

72. ‘SR 9TeR ShiuTen faRi SrEaret ?

O XINQRQO=— Q) EF=R@\|
OR QIO @ EINOR=
73, AT [ 1K | | = fereish wroman vz qaw g 2
(1) med (2) e
(3) s (4) Tea
74. Torerert=it qurean fimme feiams U i Shel O TR R e ?
(1) frershish staren eRA (2) framett Srerom At
(3) T etfiea (4) STIeTE e SeE 9Tt 3T T8 a1 Hid
75. UTUTEST A &e: 3 ATATST YEIeAeh! ShUTdt ghell T 33T ?
(1) HIUTESITER 3T¥iTes 0] (2) HIUTESITER HUS 7 01
(3) USRS WrETEIS! SEr (4) HIUTESITER SRR 01
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Alphabets :ABCDE

FGHIJ

KLMNO PQRST UVWXYZ

71.

then how to write FONT is the same language ?
(2) 6245
(4) 2746

(1) 4526
(3) 2657

(Note - Letters and numbers are not necessarily in order)

In a code language TIN is written as 456 FIN is written as 542 and NO is written as 74

Q72 and Q73 Direction: Observe the table of letters and symbols and answer the question
given below:

R

S

=

5

M

A

O

Y

X

[]

®

X

A

PAN

X

PR
—

I

72.  Which symbol will be used to write the word 'MAYOR' ?
OA®I =X @ XA ® =]
6 4 © =11 @ OLX =%

73.  Which word will be formed by using the symbols :[ O X @ A X .ﬁs'?

(1) STEEMER (2) STEEMAR
(3) STEAMER (4) STAEMER

74. What will you do if your teacher appreciates the essay written by your friend ?
(1) will not talk to the teacher (2) will not talk to your friend
(3) will congratulate your friend (4) will tell everyone that only your essay is good.
75. Which activity you think is correct to prevent the water reservoir from getting polluted ?
(1) To bathe in the reservoir (2) Not to wash clothes

(3) Sit near the reservoir for toilet (4) To bathe the animals
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